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. The sum of the interior angles of a polygon is 1620°. The

. If each interior angle is double of each exterior angle of a

. If the interior angles of a five sided polygon are in the ratio

. A 6 sided regular polygon (hexagon) is inscribed in a circle of

. A circle of radius 6 cm is inscribed in a 5 sided regular

POLYGON

Find the sum of the interior angles of a heptagon (7-sided)

(a) 9000 (b) 600°

(c) 5000 (d) Cannot be determined
Find the interior angle of a regular octagon.

(a) 900° (b) 180°

(c) 1350 (d) Cannot be determined

number of sides of the polygon are :

(@) 9 (b) 11 (c) 15 (d)12

How many sides a regular polygon has, with its interior angle
eight times, to its exterior angle?

(a) 16 (b) 24 (c) 18 (d) 20

regular polygon with nsides, then the value of n is?
(a) 8 (b) 10 (c)5(d)6

2:3:3:5:5 then the measure of the smallest angle is
(a)20 (b)30
(c)60 (d)90

radius 10 cm, find the length of one side of the hexagon.
(a) 11 (b) 12
(c) 10 (d) Cannot be determined

polygon (pentagon), find the length of one side of the
pentagon.(approximate your answer to two decimal places).
(a) 6.2cm (b) 8.8 cm

(c) 4.5cm (d) 8.7

Find the area of a dodecagon of side 6 mm. (approximate
your answer to one decimal place).

(a) 403.1 mm? (b) 40.31 mm?

(c) 403.23 mm? (d) 403.2 mm?

A polygon has 25 sides, the lengths of which starting from the
smallest side are in AP.If the perimeter of the polygon is 2100 cmand
the length of the largest side is 20 times that of the smallest, then the
length of the smallest side and the common difference of the AP

(a) 8 cm and 6% cm respectively
(b) 8 cm and 5% cm respectively

(c) 6 cm and 6% cm respectively.

(d) None of the above

How many sides does a regular polygon have those interior angle and
exterior angle are in ratio 2:1

(@)3(b)5(c)6(d) 12 (e) None these

If a circle is drawn such that is touches each side of a polygon (not
necessarily regular) of perimeter 2P and area A, then the radius of
circle drawn is equal to

(a) P/A (b) A/P (c) 2A/P (d) A/2P

If 57 /6 is the measure of each interior angle of a regular convex
polygon, then it must be a

(a) octagon (b) hexagon (c) dodecagon (d) decagon

Find the sum of the interior angle of six, eight and ten sided
polygon.

(a) 1444° (b) 1080°(c) 1440°

(d) cannot be determined (e) None of these
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